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1 | n=2(p+2g)or cquivalent
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P+ig 2
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a™ or a' or a?
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n—~—

3nlog, 5-2log,k OR 1(3n—[])=2
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log [—
log, 5 &

log & log, 5

Note:
Use any one laws of logarithm correctly.

r ——-——) or log, 5" —logsk* OR 5=K
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Bl

3 |(a) Many-to-one

or fix—x

b flx)=x"

(c) 4,—4 (Both)

4 m_l-—-n
3

or equivalent
g(x)=1-3x OR 5-Im=n+4

g(x)+4 OR f'(x)=x-4 OR n+4 or5-3m
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Bl

5 | x*—(4k* +6x+9=0
fal+ﬁ5§=4k*+ﬁ and Efx‘ﬁij:g

a+f=-2k or aff=-3
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(k+1)'-4(3)(3)>0

3 +(k+Dx+3=0
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Accept any minimum graph sketched above x-axis,
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n=7, n=9(Both) =3 ned o Nz ? B2
1600+ (n=1)1502 2500 or 15{10(1.%)"“3150:1 Bl
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10 | 540 3
L]
"’; Il 65 OR 5()+s(3') OR 5,15,45,135,405 B2
—‘1—) 65 OR .r:+3u+9n-l55 Bl
11 J{'=:\|:t and ¥ =xy 3
X=x! oo Y=y B2
xy=4x"+12 Bl
4
12 | 1002
1.715 x 3105+ 2{31-05&@(49-12'} B3
P 1';1.}5“31 .05 or [2](31-035)sin(4912°) or B2
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11.05 or 49-12"or 98.24 or 0.8575 rad or 1°715 rad
4
13 | (~2,4) and correct labe!
B3
x=-2o0ry=4%
= y B2
~Ix=2x+8 or '}rz =9
Bl
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0°, 60°(Both) [b{'-g.-—'l‘\iq-tulﬂ-lﬂaﬂ B3
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22 | 54< <59 - 3
p <59 or f254 B2
| iai=60 Bl
d 3
2|7
s AN F8 1Y (1 1Y |1 5}{1 i}{lxl] OR
(E“E]+[E“E]+(4”3J+(3xlz 412)°\3 4 B2
{ 9N £5 5y 1)]
] s, ¥t b —X—
1 [(3“3]’{12”12] (4 4
3 3 i _1. i l] or [lxl) or [lxl] ar
[ﬁxl_i]“ (12“4_] ”r(uxz 33 3 3 -
1 1] '
__-x—
(53
3
'l_
24 p | =
q|=ﬂpq e
L (Thipp Fwr1E N pnd) Bl
'C,p’" or 'Cpa 8 e Gee o ! :
25 |25 B2
1C,206xC) i | ”—tf '*("'"“ {)
Bl

’C‘ursCEDI C, ot SCg e ("aﬁc‘

Scanned with CamScanner



